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AL,

log (AL, )=log (L ~Lrl)

Tz.
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N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)

=|L;2 - Ly | = Relative luminance difference
log (AL, )=log (ILrz =Ll

Samples: Samples:
separated

L=L/L,
L ;=50 cd/m?
combine laws:

Lip=1 Lip=1
Ln Ln = L

logL 5¢=0,5l0g-
Stevens law:
log (AL,s) = 0,5 logL
AL g= constLrOv5

Weber law:

Adaptation to constant
background luminanceLy,
Lw=4.8p

w = white border

b = background

o Lip=1 Lip=1 Lip=1
Lo Lef Lo Leo| |Lo®™EL,
3 L=L /101 L=Lyp 1=100,p

I0g (aL1s)=0.5 logL
example: Lp=50 cdim®  Ly=50 cd/m?  L=50 cdiim?

? Ly=1

L=LiLy,

Samples:

separated

log (AL, ) =10g (Lrz2~Letl)

TZ.

X, Office luminance range
—_——

1 2 3 x=logL,

Adaptation to constant
background luminancel,
Lw=48p

w = white border

b = background

o Lip=1 Lip=1 Lp=1
Lo Lef Lo Leof| |Lo®™= L,
3 L=L /10 L=Lyp L=100L

log (aLs)=0,5 logL
example: Lp=50 cd/m?  L,=50 cdim®  L,=50 cd/m?

- = =
+% L=l
Samples:

separated

log (AL, )=log (L2 ~Lnl)

Tz.

X, Office luminance range
e —

2 3 x=logL,
ZE290-5

Adaptation to constant
background luminanceL p,
Lw=48p

w = white border

b = background

o Lip=1 Lip=1 Lip=1
Lo Lef Jlto  Le] |to™& L,
3 L=L /100 L=Lyp =100,

log (aLrs) = logLas
xample: Ly=50 cdim?  Ly=50 cd/m?  Lp=50 cd/ir?

%

2 L=L/Ly
Samples:

separated
logL ,=0,5loglL/L ]

z, Office luminance range
e ——

1 2 3 z=logl,

ZE290-7

BAM-test ch

log (AL, ) =log (L2 = Lpl)

Tz..

Adaptation to constant
background luminanceLy,

Ly=4,5p
w = white border
b = background

L,=LiL,
L =50 cd/m?
combine laws:

Samples: Samples:

separated

Lp=1 Lip=1
Ln  Le Ln = L

logL 55=0,5l09-
Stevens law:
log (AL,s) = 0,5 logL
AL /L 5= const
Lrb_:l xq_office luminance range

Weber law:

log (AL, )=log (L ~Lrl)

Tz.

1 2 3 x=logL,

Adaptation to constant
background luminanceLy,
Lw=4.8p

w = white border

b = background

o Lip=1 Lp=1 Lip=1
Lo Lef Lo Leof |Lo®™EL,
3 L=L /10 L=Lyp L=100L

log (AL 5)=0,5 logL
Example: Lp=50 cd/m?  Lp=50 cd/im? L,=50 cd/n?

L —
L=L/Ly
Samples:

L, =1
£ separated

log (ALs)=log (L2~ Lnl)

X, Office luminance range
—_——

1 2 3 x=logL,

Adaptation to constant
background luminancelp,
Lw=48p
w = white border
b = background

log (L5)=0.5 logL,

1 ommm-r
1 =

1 1L

1 -
: Samples:

S

separated

X, Office luminance range
e —

1 2
ZE290-6

Adaptation to constant
background luminanceL p,
Lw=48p

w = white border

b = background

log (aLys) = logLas
example: Ly=50 cd/m?  Ly=50 cd/m?  Lp=50 cdiim?
1 1

L=L/Ly
Samples:
R
1 p=1 separated
. logL ,=0,5log[L/L ]
1

z, Office luminance range

1 2 3 z=logl,

ZE290-8

hart no. ZE29; Luminance discrimination _
Model relation between Weber and Stevens law at thresholdutput:no change compared to input
M Y O V

log (AL, ) =log (L2~ Lrl)

ample:  Ly=0,5 cd/n?

Adaptation to increasing
background luminanceLy,

Lp=1
ln = Le
L=Lrp

Lp=1
Ln  Le

Ly=48
Lo=1 [ w= white border
Ln | L] b=background

L=l

L=l

Ly=50 cdin?

10g(aL s)=-0,08l0g-,
L,=5000 cd/n?.

L=l
separated

log (L/AL,)=log (L/[L2=Lsl)

T4.

=log (Lrz=Lnl)

Adaptation to constant
background luminanceL,

Lp=1
Ln Le
L=L /100

Lp=1
ln  Le

Lw=48p
L=l I w = white border
L,, mm L, | b=background

L=l

L=100

feample: L y=50 cd/n?

Lp=50 cd/n?

7.

m=1

%

log(aL 5)=0,84l0d- 55
Lp=50 cd/m?
4
Y L,=LL,
g Samples:

separated
logL ,=0,5log[L/L ]
Office luminance range

1 2 3 z=logL ,

Adaptation to constant
background luminanceL,

Lp=1
Ln Le
L=L;,/100

Lip=1

Ly=48p
L= | w= white border
L, mm |, | b=background

L=100,

exampie: L y=50 cdim?

Ly=50 cdiir?

iL,=1

Xo

10g(L /oL )=0,5l0g.
Lp=50 cd/m?

.
L d

- = I
. scaling

L =L/,

Office luminance range

log (L/A L )=log (L/| Ly = Lpl])

T4.

Jexample:

1
0

1 2 3 x=logL,
ZE291-5

Adaptation to constant
background luminanceL,

L=l
L Lz
L=L /100

Lip=1
Ln Lo
L=Lyp

Ly=48p
Lw=1 | w=white border
L,, (| b=background

L=100L

1
:Lrb=1

Xo

L=LiLy

Office luminance range

1
0

1 2 3 x=logL,

ZE291-7

inpmny0*  setcmykcol or

log (AL, ) =log (L2 = Lpl)

Tz.

Adaptation to increasing
background luminanceLy,

Lp=1
ln  Le
L=

Lp=1
ln  Le
L=l

Ly=48.,
Lo=1 llw = white border
L b = background
n L

fexample: Ly=0,5 cdin?  Ly=50 cdin?  L,=5000 cdi
1

10g(aLs)=-0,08l0g-,

1
1
: L =L/,

log (AL, )=log (L ~Lrl)

Tz.

JExample:
3

Adaptation to constant
background luminanceL,

Lp=1
La | Le
L=L /100

Lp=1
ln  Le
L=Ly

Lu=4.5,
L=l Nlw = white border
L,,m mL, || =background
L=100
log(aL 5)=0,84l0d- 55

Ly=50 cdlf

Ly=50 cd

e

m=1

Ly=50 cd

L,=L/L,
Samples:

separated
logL ,=0,5log[L/L ]

z, Office luminance range

log (L/AL,)=log (L/[L2 =Ll

T4.

log (L/ALr )=log (L/| Ly = Lpl)

T4.

Jexample:

1 2 3 z=logL

Adaptation to constant
background luminanceL,

Lp=1
Lo Le
L=L;,/100

Lp=1
Ly Lz
L=Lyp

Ly=48p
L= llw = white border
L,,m my, ||b=background

=100,

fexample: Ly=50 cd/im?

10g(L /AL 5)=0,5log.

L5=50 cd/n?

S e e

Xo

L5=50 cdin?

scaling

L=LiL,
Office luminance range

2 3 x=logL,
ZE291-6

Adaptation to constant
background luminanceL ,

L=l
L Lz
L=L /100

Lp=1
Ln Lo
L=Lyp

Ly=48p
Lw=1 Nl = white border
L,m m, ||b=background

L=100L

L =50 cd/n?

Ly=50 cd/n?

1
:Lrb=1

Xo

10g(L /8L )=0,58l0g-,
L =50 cd/n?
1

A
% © scaling

L=LiLy

Office luminance range

1
0

1 2 3 x=logL,
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